Name Class Date

The Jefferson Era Section Quiz

Section 4

FILL IN THE BLANK Read each sentence. Fill in the blank with the word from
the word pair that best completes each sentence.

l.

10.

. As a result of the decline in trade during the war,

. Signed in Belgium on December 24, 1814, the

In 1812, the United States and (Great Britain/
France) went to war.

(shipping/manufacturing) in the United States was forced to grow.

. Captain (Oliver Hazard Perry/

William Henry Harrison) was given the job of breaking Britain’s control of
Lake Erie.

. The Battle of (Lake Erie/New Orleans) was the

last major conflict of the War of 1812.

. As commander of the Tennessee militia,

(Andrew Jackson/Tecumseh) defeated the Creek Indians at the Battle of
Horseshoe Bend.

. President Madison was forced to flee when the British attacked

(Washington D.C./New York City) and set

fire to many government buildings.

. A disadvantage the United States faced in the War of 1812 was that its

(army/navy) was not as large or as powerful as

that of Great Britain.

. The (Hartford Convention/Boston Meeting)

was a gathering of New England Federalists who did not support the war.

(Treaty of Ghent/Treaty of Fort Jackson) ended the War of 1812.

One of the positive effects of the War of 1812 was that it increased feelings of
(patriotism/sectionalism) among Americans.
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